* DUNCAN EXPORT MODEL EA 1229-6A

NO. NO. DESCRIPTYON

PrpEPNPpRALN -

13.

RpR2gBpNRRRBRRY

SRS FFRFP PR REE S E SRR E AR D SRR EE RSN R R

KC 378

KC 178

KC 101

‘KRG 183

BODY PARTS

EA 1229 STAND W/FEET

STAND FEET

1220 BASE PLATE

1229 FIBER BOTTOM

1229 GROOVED BRICK

1229 PEEPHOLE BRICK

1229 HALF BRICK

1220 TERMINAL BRICK

1220 IGLN SITTER BRICK

EA 1229 LOWER CASE W/CLAMPS
1/4* THICK FIBER GASKET (1229)
EA 1229 UPPER CASE W/CLAMPS
1228 HALF SMELF

1229 FIBER UD W/BAND

1229 RIGHT HINGE ASSEMBLY
1220 LEFT HINGE ASSEMBLY
CASE CLAMP

HINGE PIVOT T

1/8* STANDOFF

PEEPHOLE PLUG

COLLAR HEAT SHIELD

1229 HEAT SHIELD

#8 X 1/2° SHEET METAL SCREW
HANDLE

1220 UD CHAIN

LD MOUNTING PLATE KIT
#8-32 X /4* MACHINE SCREW
#8 X 1° SHEET METAL SCREW

EA 1229 CONTROL PANEL SHELL
PAL NUT

SWITCH KNOB-EA IILNS

EA KILN-SITTER W/TIMER {240V}
#8 X 1/2* SHEET METAL SCREW @
1229 TOP OR BOTTOM BANK ELEMENT (280

1228 MIDDLE BANK ELEMENT (240V)

UD LATCH

SWITCH BRACKET

INFINITE SWITCH W/PAL NUT [240V)
CAPACITOR ASSM. #2

POWER RELAY (240V)

TERMINAL BLOCK ASSEMBLY

3 POSITION SWITCH

CONTROL RELAY {240V}

TEFLON SWITCH ACTUATOR KIT

CORD STRAIN RELIEF

4800 REPEAT CYCLE TIMER [240V)

4300 FIXED INTERVAL TIMER (240V)

UD VENT PLUG

STANDARD BUSS BAR ASSEMBLY
U-TERMINAL ASSEMBLY

#6-32 X 1/2* MACHINE SCREW

#6 STAR WASHER

#6-32 HEX NUT

INSULATOR

#8-22 X 1-1/4* MACHINE SCREW

#58-32 HEX NUT W/WASHER

#10-32 1/8° TAMPERPROOF SCREW

#10 STAR WASHER

#10-32 HEX NUT

B (23CM) CONNECTING WIRE, 12 GAUGE
EA PILOT UGHT

8 (15CM) CONNECTING WIRE, 18 GAUGE
8° (15CM) CONNECTING WIRE, 12 GAUGE
10" {25CM) CONNECTING WIRE, 12 GAUGE
22, 4, WIRE COMBO, 18 GAUGE

12, 8 WIRE COMBO, 18 GAUGE

22 (S8CM) CONNECTING WIRE, 16 GAUGE
° (23CM) CONNECTING WIRE, 16 GAUGE
8" (15CM) CONNECTING WIRE, 12 GAUGE
14* (35CM) CONNECTING WIRE, 12 GAUGE
16° (40CM) CONNECTING WIRE, 12 GAUGE
6" (15CM) CONNECTING WIRE, 12 GAUGE
14,8 WIRE COMBO, 16 GAUGE

22 (56CM) CONNECTING WIRE, 18 GAUGE
14 (40CM) CONNECTING WIRE, 18 GAUGE
4,4 WIRE COMBO, 16 GAUGE

6° (15CM) CONNECTING WIRE, 18 GAUGE
1026-8 POWER SUPPLY CORD

5 1/2° LG. FIBERGLASS SLEEVING
9°(23CM) GROUNDING WIRE

25°(6ICM) GROUNDING WIRE

9 CONNECTING WIRE, 12 GAUGE

DUNCAN CERAMICS
P.O. BOX 7609
FRESNQ, CA. 83747

|

|

|

|

\

|

ORDER PARTS FROM YOUR AUTHORIZED DUNCAN CERAMICS DISTRIBUTOR |
-




